CG\LANL Enginesring Biandardo\End. Marual [LEMI\Z. Appravad\ST—C4010—-1BE24wvg, 11/04/02 B 11:3 C838E8

BILL OF MATERIALS

TEM DESCRIPTION QTY| MFR. CATALOG No.
(1) |weab POLE, DF ____ ¢, £LASS 3 1

(2) |cross ARM, WaODR, 3 1/2° X 4 1/2" X B°-0", 4 PIN 2 | HUGHES 22020

(3) | cROSS ARM BRACE, 1 11/167 X 2 11/18" X 48" SPAN 2 | BROOKS $446—48—24
(7) | 5PRING WASHER, 5/8" 5IZE 13 | JOSLYN #4177

WIRE, 3/8" (748} H.S. STATIC, 30% COND. REAIE'D COPPERWELD

(5) | FOLE BAND. 4-WaY. FOR 7 1/2° T0 12" DIA, 2 | HuBHES $1111

LAG SCREW, 1/2" X 4" 2 | JosLYN fiE7B4

(i) | CONNEETING LINK 2 | HUGHES #3170

(2) | Gur ROLLER, WHEEL TYPE, WITH 3/4" X 2" BOLT 2 | HUGHES §28082

@ GUY GRIP DEAD END, "B“ COAT, 3/68" SIZE, GALVANIZED 2 | PREFORMED #CDE3115
@5 | CRMP CONNECTOR 4 | HyAP

LOW VOLTAGE STEEL PIN, 5/8", 8" HEIGHT B | JosLyN guzp7z

@7 | PIN INSULATOR, ANSI CLASS 55-5 B |vCTOR #BR

MACHINE BOLT, 1/2" X & 4 | JosLYN $487D6
SPRING WASHER, 1/2" SIZE 4 | JOSLYN #4178

@0 | MACHINE BOLT, 5/8" X 147 1 | JosLyn gumB1a

{2) | SQUARE WASHER. 5/8° SIZE 4 | JosLyN fu1D74

@3 | pouBLE ARMING BOLT, 5/8" X z2" 3 | JosLYN $uBB7Z

@ | eve N, 578" sIZE 12 | JOSLYN #$41D82

@) | SUSPENSKIN INSULATCR, PGLYMER 12 | JOSLYN #L1510

@B | STRAIN CLAMP. DEADEND B ;ﬁ%{fg“““"
@) | DIsT. TES FOR 3/0 ACSR (6/1) B | PREFORMED #UTF-1207
@3) | NO. 1/D BARE COPPER WIRE, 7 STRAND Ré‘én

&2) | GROUND WIRE STAPLES, 2° 1S | dos #6655

&6) | crouND RaD, 3/4" X &' 1 | JosLyN pusaas

&7) | GROUND ROD CLAMP, HEX HEAD, 3/4° 1 | dosLYN $um4p3

@) | UNE TAP CRIMPITS, COPPER YC-T 3 | FCI-BURNCY #YC26C26
@ LINE TAP CRIMPITS, ACST YP-U 3

GENERAL NOTES:

DRAWING DEVELOPED FOR ML-3/ML-4
PROJECTS, FOR ML—1/ML-2,
ADDITIONAL REQUIREM AND QA
REVIEWS ARE REQUIRED. (REMGVE
THIS NOTE WHEN INSERTED INTQ A
DRAWING PACKAGE).

1. THIS BILL OF MATERIALS APPLIES TQ DRAWING ST-G4C10—1B, SHT. 1.

2, EQUIPMENT MEM NUMBERS [@] REFER TG EQUIPMENT NUMBERS IN

LANL SUPFORT SERVICES CONTRAGTOR'S MASTER BILL OF MATERIALS.
ONLY THOSE NUMBERS USED ON SHT. 1 QF THIS DRAWING ARE SHOWN.,

NATES FOR DESICNER:
E%%wm'.}g INCLUDE CN CANSTRUCTIAN

L L
L 9
? 1. CONPLY WITH GURRENT EDMION GF §
< LANL DRAFTING NANUAL FOR CALL— 4
OUTS PROTOCOL_AND LOCATION OF
1 SCHEDULES/MATERIAL. 9
@ 2. ASSIGN AN APPROPRIATE DRAWING 4
L 9
L L

CANC BhabrRe” TR EREeST

FOR DETALS.

9090006609

N DATE REV PESCRPTON DWN |VER|CHKD| SUB | APP

A\ FACILITY & WASTE OPERATIONS
e SYSTEMS ENGINEERING & MAINTENANCE

LANL ENGINEERING MANUAL ORAWN | 4 pacen
SITE ELECTRICAL DISTRIBUTION STDS.
BESEN |, prvant
DISTRIBUTION E"_ED(;JFELEAPEERA&?D STRUCTURE CHEDKED | |, | snpNAN
HLDG. X TA—X | "F |e/30/m2
SUENITIED AFPRIVED FGR RELEASE
DISCIPLINE POC! DAVID PAOWELL STANOAROS MANAGER! TOBIN QRUCH
SHEET
- 2
° LOS Alamos PU Bax 1063 2 ar 2
NATIONAL LARORATRRY Los Almos, New Maxko B75640
CLASSFICATAN U [REVEMER  NIHAEL LaDaCH [oarea/38/82
FROJECT D DRAWING N REV

CHAPTER 7 ST-G4010—-16| O




